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75 LED 65.0 30408 3 30,408 20,000
7 6 64.0 31371 3 31,371 20,000
7 11 66.0 20,689 2 20,689 20,000
2.
9 1
LED
1 LED
LED
LED 2
2
40 mm 33 1,638
5 6 15 7 1 656
LED 1 LED 8
12 3
LED 014 014 016 007
065 3.00
1 3
1
LED LED
6 15
(mm) 40
32,970 32,970 32,970 32,970
86% 83% 82% 81%
7_4 75 7 6 7 11
(mm) 68 65 67 66
30,328 30,408 31,371 20,689
7% 66% 82% 42%
92% 92% 95% 63%
LED 2
2 4 113 7 4 4 5 20
1 ALC 8 2 5

-21 -



303 g

4%

44 5lcm 19 28kg
180 402 kg 1,483
3%
DNA 2%
1%
20 0%
915
DNA 30
2 5 25
11
30 25 3 28%
1
mm
15 3 22
3
30 12
3.58
11
3
() () %)
H15.3.28 30 18,900 25 0.13
H30.12.11 169 5,031 180 358
R2.7.8 79 11,490 14 0.12
R3.5.12 41 12,000 2 0.02
30
3.6
4599 25

-22 -

E L

1

LED

LED

17

80 mm

LED
2

S ERTR

LED

LED

12

LED

SRR

26

86.2 mm

31

44



6 7
100
0 | —e LEDHHE --A- HEE 86.24 DNA S DNA
I 4 2 4
i 4 4
5 5
20 F
10 f
T B 7 = T, 6 17,18 C1( 5mm) 438
6 1819 C2( 7mm) 622
2 7 11 C3( 10mm) 926
6
1 24 25 4 9 0
8 2
4 2 2
C1
ALC
( C3
1 24 85.0 18.4
85.0 18.4 5
85.0 184
5.0 18.4 9,291 DNA
1 25 817 185
817 185
817 185 4
817 185
2.
S 2
1 12 11,560
12 7
2 2 4 5 48 68
cm 12 41kg 5 DNA
1,639 2,494
23
Z1
DNA DNA 4
4 DNA 4 3
1 3
4 4
4 6

-23-



8 122

5 30 mm

DNA

-24 -



